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(2x2x3.14) - (4x4><%>

= 12.56 — 8 = 4.56( cm?)
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D 3.458 + A = 2.66 @ 6744+ A =562
@38.34 A =426 @ 25568 + A = 7.52

® 575+A =125

U= 711 Hop 210 52 R0l 2| = R A- YT
weba @) 38.34 + A = 42.6 9| 4] 42.6 > 38.34 0|22 A 2] LS
1 B} 25yt




11.

A @, © daUth. @] A7le] 28 6EL U 2T ¢
% Qg Zoto] ek gth @.@o 47te] vE

N
ol AU

O 80:126 @ 126 : 82 @41 63
@ 18:26 ® 126: 118

B ~
@x(1+0.26) = @x(1 - 0.18)

@Dx1.26 =x0.82

@D:@ = 0.82:1.26

@:@ =82:126 = 41 : 63
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(50x2x3.14) x4+ 120 x 2

= 1256 + 240 = 1496( cm)
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(] B5A)+(E S B5A)= 832
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[ ]x(0.840.48) = 83.2

[ |x1.28 =832

[ ]=832+1.28

[ ]=65(ke)
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> At 430 cm?

A 1

200'{n> <
JALAL
(A ol)

= (40 x 20) + (10 % 20 x 2) + (40 x 10 x 2) + (10 x 10 x 3.14)
= 800 + 400 + 800 + 314

= 2314(cm?)

Add 729 "el)

=(FAE o])-(FtAFo] 10em ¢ F2] Hol)x6

= 2314 — (10 x 10 x 3.14 X 6)

= 2314 - 1884

= 430( cm?)




20.

Il
N TN
)
X
()
X
w
S
S
X
|
~—

1.5><1.5><3.14><%)+ <3x4x%)

- (2.5 X 2.5 % 3.14 x %)

= 6.28 + 3.5325 + 6 — 9.8125
= 15.8125 — 9.8125
= 6(cm?)




